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X=ap+a,V+a,(T-608)+a,V(T-608)

al al al a3
Coefficient 0.335 10.659 -0.002 -0.0006
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1 CfO[E/= &8
2 oj@a
i — 3. 412 BS 9IX|0f Xo{FH 2!
5 "#VALUE! 300 400 500 600 x=ag+a;V+a,(T-608)+a,V(T-608)
6 12 13.96 13.69 1342 1315
IV 1 11.79 1153 11.27 1101
8 08 963 938 913 888 35 a, 3, a;
9 |T 0.6 146 1.22 6.99 6.75 Coefficient  0.335 10659  -0.002  -0.0006
10 04 5.29 2.06 484 4.62
11 0.2 312 291 2.7 248
12 0 0.95 0.75 0.55 0.35
3 -0.2 -1.22 -141 -1.59 -1.78
14 -04 -3.39 -3.56 -3.74 -391
15 -0.6 -9.56 -3.72 -5.88 -6.05
16 -0.8 -1.72 -7.88 -8.03 -8.18
17 -1 -9.89 -1003  -1017 -1031

18 -12 -1206 -1219  -1232  -1245
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1 O]&<: TableOf CHE J2i= 12[7) [ e

2 u(xt) = 100*SIN(PI()*x/80)*EXP(-0.001785%t) “

3 " #VALUE! 0 10 ‘ 40 50 60 70 80
4 | 0 0 3827 | 3A¥Imao us e 7071 3827 0
_ 3 | 50 0 35 [_/\ AlZHER}, GIS)0|L A2 SH20] 64.67 35 0

6 |AlZHseq) 100 0 3200 |/ V| ©234E=03UL 5915 3201 0

7 | 150 0 29.28 4 =| HoE 227 2 %) o 0 541 29.28 0
8 | 200 0 2678 ‘'wumo| SE8TLLL 4948 2678 0

9 | =2l AH2|(cm) 250 0 2449 4526 5913 64 5913 4526 2449 0
10| 300 0 224 4139 5408 5854 5408 4139 224 0
11 | 350 0 2049 3786 4946 5354 4946 3786 2049 0
L2 400 0 1874 3463 4524 4897 4524 3463 1874 0
13 | 450 0 1714 3167 4138 4479 4138 3167  17.14 0
14 | 500 0 1568 2897 3784 4096 3784 2897 1568 0
15 | 550 0 1434 2649 3461 3747 3461 2649  14.34 0
16 600 0 1311 2423 3166 3427 3166 2423 1311 0
Evd 650 0 1199 2216 2896 3134 2896 2216  11.99 0
1] 700 0 1097 2027 2648 2866 2648 2027 1097 0
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Heat Conduction Eq.
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